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1. 3

y =41+ 24x —18x2, dd y DI

IfPpaq 79 2

(A)
(B)
(©)
(D)

2. 3Ile

49
41
—-36

S U B T

y = x>~ 3x*2, 4y &I JIdq

T

(A)

(B)

(©)
(D)

3. J.sec2

(A)
(B)
(©)
(D)

s, X

I
(A)
(B)
(©)
(D)

AG-1012

5

SUA # 9§ 3 TE
xdx @AM T :

2secx+C
2secxtan x+ C

tan x+ C

Swad # ¥ Plg TN

dx a’ﬂ‘:ﬂ:f%:

Jx* ¢
4% + C

Swad # ¥ Plg T

1.

If y =41+ 24x —18x2, then maxima of

yis:
(A)
(B)
(©)
(D)

49
41
—-36

None of the above

If y=x2-3x* 2, then minimum value

ofyis:

(A)

(B)

(®)
(D)

5

None of the above

The value of fsec2 x dx IS

(A)
(B)
(©)
(D)

2secx+C
2secxtan x+ C
tan x+ C

None of the above

The value of fidx is:

(A)
(B)
(©)

(D)

I

Jx*c
4% + ¢

i+c

N

None of the above

Set-C



5. Ie“_S dx BT AN T : 5. The value of fe“_3 dx iS:

(A) eZX_3 + C (A) e2x_3 + C
2x~3 2x~3
B) *—-+c B) —+c
2 2
(C) 2e**3+c (C) 2e**3+c
(D) SWE ¥ | FIg el (D) None of the above
6. [ 22X dx BT HAM T : 6.  Thevalue of [ 2x dx IS
xc t1 x2 +1
1 1
A) ———+¢ A) ———+c¢
A (x2 +1)2 A (x* *1)?
-1 1
() x2+1+C (B) x2+1+C
(C) 1og,(x**1tc (C) 1og,(x**1ntc
(D) SUYd H A IS el (D) None of the above
7. f3 L ax BT A 8 7. Thevalueoff3 L axis:
2 X + 7 -2 X + 7
(A) log2 (A) log2
(B) —1log2 (B) —log2
(©) log(x+7)+C (C) log(x+7)+C
(D) SUYa H § I Tl (D) None of the above
8. le log x dx <l HIH g 8.  The value of flz log x dx IS:
(A) L+c A) L+c
X X
(B) 2log2-1 (B) 2log2-1
© — ©c —
2log 2 2log 2
(D) SUYa H A Bl 7l (D) None of the above

AG-1012 (4) Set-C



9. foz cos® x dx I HIT % : 9. The value of foz cos® x dx IS

@a) 2 A 2
4 4
® 232 ® 23I
4 2 2 4.2 2

(€ 0 (C) 0

(D) SWE ¥ | TS el (D) None of the above
10. .[:(xz +1)dx Pl HIH g 10. The value of foa(x2 t1)dx IS:

(A) 12 (A) 12

B 9 (B) 9

<€ 27 (C) 27

(D) SUYw H H IS el (D) None of the above
11, g x* + y? = a? @l g% © 11. The areaof thecircle x2 + y2 = a? is:

(A) 2ma (A) 271a

(B) 4ma’ (B) 4ma?

(C) ma? (C) ma?

(D) SUYa H H I Tl (D) None of the above

2 2 2 2

12. ééqa :—2+Z—2=1 BT ST © : 12. Theareaoftheellipse:—2+5—2=1is:

(A) mab (A) mab

(B) 2mnab (B) 2mab

(C) m™a’p? (C) m™a?p?

(D) SUYa H A Bl 7l (D) None of the above

AG-1012 (5) Set-C



13. WIAT y2 = sax IR TP AAH &
9 BT 8% B
(A) Ioaydx
(B) ZJ.:ydx
© Zledx
(D) STda # & Big AL
14. UG T qE A AT 8, IR
(A) A=A
(B) A'=-A
C) A=l
(D) ST # ¥ B Tl
[
15. ?T[%{A—Ll 3J,(_‘|_6[A'W%
2 1
o
(A) |2 1
3 o]
3 (-1 -2 -3
® [, 1 o
c [1 3 21
() LZ 0 1J
(D) SWad # | BIS T2
AG-1012 (6)

13.

14.

15.

The area bounded by the pa

y2 = 4ax and its latus rectum is :

(A) Joa y dx
(B) 2]: y dx

©) 2_[: y dx

(D) None of the above

A square matrix A is symmetric, if :

(A) A=A
(B) A'=-A
C) A=l

(D) None of the above

— 3—| '
If A b . 0J,thenAlsequaI
N
A) |2 1]
3 o]
®) [-1 -2 -3l
> 1 ol
c [1 3 2]
© Lz 0 1J
(D) None of the above

rabola

to:

Set-C



16.

17.

18.

19.

TH T AR A v i emeR g,
Ife -

A) A=A

(B) A'=-A

© A=l

(D) STda ¥ & BIg AL

Uh a1 g A FHAd AR fv-aafia
CEIAGEE

(A) A o ameg 2|

(B) A T TahoRk NE ¢ |

(C) A TIRI 3 2|

(D) SWE & W B &
a b c
at2x bta2y c¢c*t2z[=2?
x y 2

(A) a+b+c

(B) x+y+z

© 1

(D) 0

¢ A TH 3x 3 HH G I ME &, T4
[KA| &R & :

(A)
(B)
©)
(D)

K|a]
K*|a]
KAl

3k |A|

AG-1012

(7)

16.

17.

18.

19.

A square matrix A is skew symmetric, if :

(A) A'=A

(B) A'=—A

C© A=l

(D) None of the above

A square matrix A is both symmetric and
skew-symmetric, then :

(A) Ais diagonal matrix.
(B) Ais scalar matrix.
(C) A'is zero matrix.
(D) None of the above
a b c
at2x b*t2y ct2z|=2
X y z
(A) at+tb+c
(B) x+y+z
€ 1
(D) O

If A is a square matrix of order 3 x 3,

then |k A | isequal to:

(A)
(B)
(©)
(D)

<|a]
K® ]
K [Al

3k |A|

Set-C



EI'PQ’A—rX y | =r2>< 3y | [x oyl =rzx 3y |

20. - LZX SyJ’ ° L X ZyJ’ @ 20. 1f A =L2X SyJ’ ° L X ZyJ,then

A+2B R T : A +2Bisequal to:

A |—5x 7y1 A |—5x 7y—|

( ) L4x YyJ ( ) L4x YyJ

B |—5x 4x1 B |—5x 4x—|

( ) {Yy 7yJ ( ) L7y 7yJ

c [3x 4y1 C [3x 4y—|

( ) L3x ByJ ( ) L3X SyJ

(D) SUYd H A IS el (D) None of the above

[x yl [x yl

21. m%Awa S| T 2A

21, A :L: . | then2A=:

[2x 2y1 [2x 2y1
&l ] A 1]
|—X y—| rx y—|
® 5 o) ® 1 o)
r2x 2y1 ng zyT
(C) Lza 2b (C) 2a 2b
(D) Suga H A Bl 7l (D) None of the above

22. I A=dig (2, -5, 9), B =dig (1, 1, -4), 22. If A =dig (2, -5, 9), B =dig (1, 1, -4),

9 (A-2B) TR 3 then (A — 2B) is equal to :

(A) dig (0, -7, 17) (A) dig (0,-7,17)
(B) dig (0,7,17) (B) dig (0,7, 17)
(C) dig(0,7,-17) (C) dig (0, 7,-17)
(D) SUYa H A Bl 7l (D) None of the above

AG-1012 (8) Set-C



T TR B
FTATE value of y is :
A) 1 (A) 1
B) 2 (B) 2
€ 3 (C) 3
(D) 4 (D) 4

[2x —y _ 5 - e 5]
24. | e )y TExm2a a0 D) then the

74 2 value of x is :

(A) 1 (A) 1

B) 2 (B) 2

€ 3 (C) 3

(D) 4 (D) 4
|—3—| F31

25. AT x 2{ J=2,?I‘6Ix2b"r‘:|ﬁ§f: 25. If «x 2{ J=2,thenthevalueofxis:

4 4

(A) 2 (A) 2

B) -2 (B) -2

<€ 3 (C) 3

(D) SUYa H A Bl 7l (D) None of the above

AG-1012 (9) Set-C



27.

7 1
-

(D) SWE & W B &l

F
© |

2 3 -5l
A ATl 2 1
o 1
57|, |, T A+B=
A (-2 8 —a4l
") Ll 9 2J
5 [ 2 8 —4l
®) L_l 9 2J
c 2 -8 -4l
© - s -]

(D) SWad # | BIS T2

AG-1012

217.

31

If A:h 2J and B={
AB =

[-71
&, ]
B) -7 2

[ 71
© |

(D) None of the above

i T2 3 -5
A Ll 2 —1J
B={O ° 1},thenA+B:
-2 7 3

:
A |

:
® |

F
© |-

(D) None of the above

and

Set-C



[ 1 [ 1
28. m%A=f 1J,a-sz2: 28. |fA11 J,thenAZZ
11 11
|—1 11 |—1 1—|
A, @,
|—2 2-| |_2 2_|
(B) Lz 2J ®) {2 2J
(1 01 |—1 01
© {0 1J © Lo 1J
(D) SWE ¥ ¥ IS el (D) None of the above
x -7 . -
29. BT A E 29. The value of is :
x 5x*t1 x 5x T1
(A) 5x*+s8 (A) 5x**38
(B) 5x? -7 (B) 5x2-7
(C) 5x+8 (C) 5x+8
(D) SUId H H I el (D) None of the above
3. x @ 39 A9 & foly A RF[R 7 ? 30. For what value of x A is singular ?
1+ x 7] =|—1+x 71
Azls—x SJ g L3_x 8
@ = @ =
15 15
® = ® =
© = © =
15 15
(D) SUYa H A Bl 7l (D) None of the above

AG-1012 (11) Set-C



31.

32.

33.

34.

x-31eT BT FHIPT §
(A) X=0

(B) Y=0

(C) X=0,Y=0

(D) SWE ¥ | FIg el

y-3eT B THIGRT B
(A) X=0
(B) Y=0
(C) X=0,Y=0

(D) ST ¥ § B T

X-33 D AR g BT FHPRT ¢

(A) x=a
(B) y=a

(C) x=ay=a

(D) ST & 7 IS Tl

y-31T & AR g BT FHIHR &

(A) x=a
(B) y=a
(©) x=ay=a

(D) SUYa H A Bl 7l

AG-1012

(12)

31.

32.

Equation of x-axis is :

(A) X=0
(B) Y=0
(C) X=0,Y=0

(D) None of the above

Equation of y-axis is :

(A) X=0
(B) Y=0
(C) X=0,Y=0

(D) None of the above

Equation of line parallel to x-axis is :

(A) x=a
(B) y=a
(C) x=ay=a

(D) None of the above

Equation of line parallel to y-axis is :

(A) x=a
(B) y=a
(C) x=ay=a

(D) None of the above

Set-C



35. T f9all (-1,2) 3R (3,5) @ &l W 35
2
(A) 13
(B) 5
(C) 65
(D) SUa ¥ ¥ B T
36. aﬁﬁﬁaﬁ (X, ¥y) 3ﬁ?(x2,y2) EbA[GﬁE%[ 36.
el ed & 7 a5 & Frees g
(X1+X2 yl+y2\
A | ]
(Xl_xz yl_y2\
® | i
( x. - x - )
(C) kzz 1’y22y1J
(D) SW ¥ ¥ Py T
37. a]%%\’:ﬁ (Xg, Yq) Gﬁ?(xz,yz) EbAf\_rh@ef 37.
qrell ofTg &l &Tel BT :
(A) 22
(B) ‘2%
(C) X, X
Y, Y1
(D) SWE H ¥ Py T
AG-1012 (13)

Distance between two points (-1, 2) and
(3,5)is:

(A) i3
(B) 5
C) s

(D) None of the above

The coordinates of the midpoint of the

line segment joining points (x,, y,) and
(x,,y,) are:

[ x, * x v, Ty,

(A) le 2

(C) {ngxllyzgle

(D) None of the above

Slope of a line joining two points (x,, y,)

and (x,,y,) is:

(A 4
X, T Xy
(B) Y2 'Yy
X, T x
(C) X, T X
Yo, Vg

(D) None of the above

Set-C



38. (3,-2) 3R (-1, 4) q W qrell g ®T 38. The slope of the line through (3, —2) and

R (-1,4)is:
@ -2 n -3
2 2
B -= ® -2
3 3
3 3
<€ - (c =
2 2
(D) SWE ¥ ¥ IS el (D) None of the above
39. I drgAl oM arel m, 3R m, g, @ 39. The angle 0 is between two lines with
P 0 T TY tan © ISR T slope m, and m, , then tan 6 is equal to :
A M, My A m, ~my
A 1t mm, A 1t mm,
(B) e T My (B) m, ¥ m
1= mm, 1~ mm,
T m
© © =
(D) Suga H A Bl 7Tl (D) None of the above

40. T dRH @ & m, AR m, T  40. Two lines with slope m, and m, are

waq B, M perpendicular, if :

(A) my = m, A m =m,

(B) mm, = "1 B) mm, = "1

€ m="m, € m=-m,

(D) SUYa H A Bl 7l (D) None of the above

AG-1012 (14) Set-C



41.

42.

43.

44,

AG-1012

(-2, 3) ¥ BIAX WM dTell — 4 & &
A3 T THHRT ©

(A) 4x+y+5=0

(B) x+4y+5=0

(€ ~*y*s-o

(D) ST & & PIE Tl

x-31T Ry W HH -3 AR 2
TGOS T el TS BT THIBRT B

A Z+ L=,

N
|
w

(B)

© — > -1
(D) STda # | @IS AL

AT 3x—y+10=0 QA @

(A) 3
1

(B) -

3
(C) -3
(D) SWad # ¥ DS T2
TR AgAl 3x — 4y + 7 = 0 @R
3X—4y+5=0% 419 B g 2 :

(B)

N oo [N

(©)
(D) SWa ¥ ¥ IS T

(15)

41.

42.

43.

44,

The equation of line through (-2, 3) with
slope —4is:

(A) 4x+y+5=0
(B) x+4y+5=0

C —+tyts=o0
4

(D) None of the above

The equation of line which makes
intercepts —3 and 2 on the x and y-axes
respectively is :

(A)

1+L=1
2 3
B =+ L=
-3 2
X
-3

(D) None of the above

(©)

+1=1
2

The slope of line3x—y+10=01s:
(A) 3
(B) -

€ -3
(D) None of the above

w |~

The distance between the parallel lines
3x—4y+7=0and3x—-4y+5=01s:

(B)

N o o

(©)
(D) None of the above

Set-C



45,

46.

47.

48.

AG-1012

9 T B TR T o (h, k) R 45,

qer o =am r B
(A) (x =)+ (y " k)? = r?
(B) x=m* - (y K =r

C) (x-
(D) SWF ¥ 4§ BIE T

)2+ (y = k)? =r

Gd x2+ y2+tgxT10y ~8 =0 &I bR 46.

g

(A) (4.5
(B) (4.-5)
€ (45
(D) (4.-5)

qd x2 + y? = a? @l ﬁ% (x,y) W 47.

et T B FHER
(A)  xx, ~yy, = a?
(B) xx, *yy, = a?

©) Xy, ~ yx, = a®

(D) SWF ¥ 4§ DIE T

I 48.

(x ¥5)2+ (y ~3)° = 36

BT BT B
(A) (5,3)

(B) (5.3
€ 6.-3
(D) (5-3)

(16)

The equation of the circle with centre at
(h, k) and radius r is :

(A) x=m2*(y K2 =r

Il
N

B) x~m2-(y k)?
C) x=m2Fr (K=
(D) None of the above

The centre of the circle

x2+t y2+tgxti10y —8=01IS:

(A) (4,5

(B) (~4.-5)

C€) (4,9)

(D) (4,-95)

The equation of tangent line at (x,, y,) to
the circle x2 + y2 = a? is:
(A)  xx, ~yy, = a?

(B) xx, T yy, = a’

(C) xy, ~yx, = a?

(D) None of the above
The centre of the circle

(x T5)2* (y ~3)2 =36

A 63
(B) (5.3
€ 6.-3
(D) (5.-3)

Set-C



49,

50.

Y

52.

T ST BN

lim[x® ~ x2 T1]
x™1

A) 1
B) -1
) 0
(D) SWH ¥ W B &l

n—an

BT A T

lim
x7a X a

(A) na"!

(B) an®t

(C) na

(D) SWH & W B &

sin x

RIS I

lim
x>0 X

A) 1
(B) -1
() uRuiftg =& 2

(D) SWa ¥ ¥ I3 Tl
dd—(exz) T HAM T
(B) e*.x?

(C) x.e*

(D) 2x.e*

AG-1012

(17)

49.

50.

51.

52.

Find the limit :

lim[x® ~ x2 T1]
x™1

(A) 1

B) -1

€ o0

(D) None of the above

n—an

lim is equal to :

xZa X a

(A) na"!

(B) an® "

(C) na

(D) None of the above

sin x

lim is equal to :
Xx”0 X
(A) 1
B) -1

(C) Does not exist

(D) None of the above

The value of - (e**) is :
dx

(A) X
(B) e*.x?
(C) x.e*

(D) 2x.e*

Set-C



53. dd—(sin x t cos2x) DI HHA g
X
(A) cosx—2sinx
(B) cosx+2sinx
(C) cosx—2sin 2x
(D) SWa ¥ ¥ FI5 el
54, d—(Iog sin x) [ HIT g
dx
cos X
A
( ) sin x
cos X
B —
( ) sin x
C sin x
©) cos X
(D) SWa ¥ ¥ I Tl
55. d—(eX cos x) DI HHT g
dx
(A)  e*(cosx ~ sin x)
(B) e*(cosx * sin x)
(C) e*(sin x ~ cos x)
(D) SWa ¥ ¥ IS T
56. d—(ax) T AF T :
dx
(A) a*
(B) xa*!
(C) a*log,a
(D) SWE ¥ ¥ FI5 Tal
AG-1012

(18)

53.

54.

55.

56.

d .
The value of — (sin x * cos 2x) iS:

dx
(A) cosx—2sinx
(B) cosx+2sinx
(C) cosx—2sin2x

(D) None of the above

d .
The value of — (log sin x) iS:
dx

COS X
A
( ) sin x
COS X
B _
( ) sin x
C sin x
( ) COS X

(D) None of the above

The value of d—(ex cos x) IS :

dx
(A) e*(cosx ~sin x)
(B) e*(cos x *sin x)
(C) e*(sinx ~ cosx)
(D) None of the above

The value of d—(ax) is:
dx

(A a*
(B) xa*!
(C) a*log,a

(D) None of the above

Set-C



57. d—(sin2 x) I A4 g 57. The value of d—(sin2 x) IS :

dx dx

(A) sinxcos x (A) sinxcos x

(B) cos?x (B) cos?® x

(C) 2sinx. cos x (C) 2sinx. cosx

(D) SWE ¥ | FIg el (D) None of the above
58. dd—(sinj x) DI HI9 g 58. The value of dd—(sinﬁl x) IS:

(A) cos 'x (A) cos 'x

B) —— |

1~ x? 1~ x?

€ —— € —

(D) SUYd H H I el (D) None of the above
59. dd— e BTHAR 59. The value of dd— eV s

A) eV A) eVx

® ®

% i

C o C o

(©) T € e

(D) Suga H A Bl 7Tl (D) None of the above
60. 3JfQ y =sin (3x +5), dd Z—y = 60. Ify=sin (3x +5), then Z—y =

(A) cos (3x+5) (A) cos (3x+5)

(B) 3cos(3x+5) (B) 3cos (3x +5)

(©) (3x+5)cosx (C) (3x+5)cosx

(D) STYd H H IS el (D) None of the above

AG-1012 (19) Set-C



10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the most
correct/appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

Example :

Question :

Q1T ® @ © ®
2 ® ® @ ©
W3 @ @ © ®

[llegible with  cutting
over-writing or half filled circle will be
cancelled.

answers and

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.
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